June 27, 2022

Elementary

Statistics

Lecture 6

Cliss Qz &
Use  the Chort below Sind

Do=",9

Nb-1.3
3 (= 65/,
4) =,803

LinRgg@+ bx) 11,12

Round 1o
1-decind

whdle /
9-decimal




Todeaduckon T F(‘O\OO\&)I\H(GSL
E — Evenl, oufome

P(E) —» Prob. that £ happens

P(E)- Totod w OF Al desived outovmes
Totd & o} all outtomes

35 Students RO\AOm\\( Seect 1 S\u!trﬁ'
15 Females

-5 (3],
o Waes  TUSded o Semale ﬁ_

A Soll deck o5 P\a‘(\‘na Qowds
52 Cord®>  Randomly Seect 1 Covel,

12 Sace p(Seted o red Cowﬁ}:%igi
4 A

Q6 Red P(Select aw Ace)- -;(/2: ={. 01

HiEl52 \math]
i&‘e)bﬁCl IE‘I\Jer

G&ee‘w‘o\e ANSWYs  Sor  Probob\ities:
D) Reduced Seaction

Q) Roond B 3-decined Plaes

2) Scienhi e Nofiion.
Consder  mMuwmbers Seom 1 1o 30,

1,2,3%,5 - - - ',87/28/2%3@
Shet L mowmber
) P(Select below 6) DPSect o feast_27)
\)21—5/%/5 _ﬂ_ &7,2%,2ﬁ(30

- So L]k =314k

2) P(Sedect below 6 cnd 1) P Select %;5\03&4165

of \east 27) B2 ot feast 27
0 . q 27,25,29,30
%@ ag™

SRR e B

June 27, 2022



June 27, 2022

1(@(\3\)(‘*@3\ A %U\"\IQ‘{Z
‘DO You have ow (Phone?

| Yes| WO| Tofd

C_QW\/O\\Q_SX lOO\ ‘-&0\ |40 1§ we vandowly

Select ome a¥
Male S \ 1 60
ot 11%\ 32 | 200

B\ )
) R(ma): S [2\E) DRI BE
"&) P( Male ow\A \(QS\): 5\)1\3(\“0\\& oY X@}

[
N 0 il

Doorvey Size  N=200

these P@o,)(e/

Some  Prob. voles & Terminolosies

D 04P(F) <1

a  Pe)-1 A=> Svre even!

) P(E) =0 Y Tmpossible evedt
S OLPE)<.05 b Rove event
5) Sowm o5 AW\ prob. is clways 1.

6) E Desired  event
E PE-bar , ndt £, E—COmP\QW\en’I
7) P(E} Az P(E)*«i ComP\emen\ role
RE):1-PE) , XE):1-PE)
Ex. P(Roins)=.1
P(Roxn )= 1 — P(Rains)-1- 1 =(3]




b P(E)=:015
Sind PCE)
P(E)-1 - P(E)=1 —.0t5 =|S24]
P(E) in/ 2.5/
P(E) i veduced Fruchion
ses () e

Given PR3
D Siad P(ﬁ> 0 YQC\U(E’Aym(‘h’M

1 D5Bs o

Q) Siv\c)\ P(TA\) W Aecima.
@ lEﬂ+Q{| @

DS PR N |ays]

-
.

21
~0

v

June 27, 2022

AdAion  Rule
Ke»(wo\rc)\  TOR
MO or B)- P(A) « P(B) —P(Aond B)

Overla
Given: PIM=2, H(B=8] | p(A ond B)-225
D P(A)=1- HA) DP( B )-1-P®)
:1—03:@ =t -3 _/

)P R o) 8)=1 — PLAod B)-1 .26 15]

NP A or B)= PA) vP(B) — Pl Ao B)
S N S Y LoE




June 27, 2022

P( Eg@%}: M
P( CoggeQ = orl

£ —» Zops

C —>CoStee

P( oops and Coffee)s -2

) P(E) =1-P(E)

“4- M=)
) (£ or C)=P(E) +#()- M(Eand)

) P(E )= — P(E or )1 -3:[1]

2D P(T) =1-P(c)

:‘L‘ ‘\'67 _.?_:‘

:1-.1:@

|3 ]

OP(R ) =1 -XR)

-6

No O\lQr\ouP
P(A and B)-0 <> AeBove MEE,
P(m: Mo, ?(BB:.V)/ J‘v;‘—:B Owve A(SJ'OMJ@J

Moutually  Exclusive  Events (Dis\')oi‘ﬂL E\lmj@

L SNents
HP(B)-1-p(B)

.5

Hp(God B)-[0]  DRAE)

d\'ﬁjOU\JT eyenis

_p(R) AP(R)-FAad B

> o"‘ "‘05 —O




June 27, 2022

p(cﬂmg\e VS A):,?)
B) =1

PR)= .2, P(B)=M AR owe WEE

fe B> are MEL,
P(%V‘aé\e (S

p(ﬁ):l - P( B) -1 —4
i -1.6)
P(A o B)
P(A ond ®) 10} _PCA) + PCE)-F(A wnd)
-.5 v —-0O

(7]

Now \)Sif\a Vewn Dirgvam

- RQC\W/\%‘Q

_ Curcles Sor
each evevil

B VA PM\O- =1




June 27, 2022

P(f)=.35
P(®)=+5> A &
P(Aowd PY 25
NN [ap
«3b

R \ :.36‘_62—:.
& on‘-()\ N S EL , 1 [d4.2543) |
P(® en)=55 =25+ 1 .65-(B)

P(RonlYy OR %Oﬂ\\{): A0y G :

Qom?\QJYe the Venn Dingvam below:

—\_0“0\\ = 9
AN
115454 3
= ‘ ol !
P(R) = o 1

P(®) = .,H.L\)g:@)
DA or B)= P(R) ¥ P(B) — P(Acnd B
e ) =) *.‘55_.1

( P e JQ)
’P PIOM\( OR ‘M‘ 0‘5+0l15 _:

bt wakch  Video
G 11 De Morgom‘s Law




Taveoduction 1 oAds:

1 Slipped o Com 100 Fimes
I \anded  tatls 65 Himes.
P(Touls): %56 =|- 65|
P(Nomte ): 32, =|.3)

)00
NOW  OAAS

0dds in Sowo( d} vent &
3 E hoppens & 3 E Fappens
oc\A% in Swovf oy \&V\C;\Cﬂﬂ fouls
65 Yo\ 4 35 Vauls

65135 (Math) [IPFac \oafe] \12%

Devo.

Nowme

June 27, 2022

A Soll Qe o5 P(o\%\‘ng Cord S
52 Cavds, 26 Red, 12 JPU\(G/ HAceS

odds in Javov of  Swawing o fedk G
26 Red % 26 Red > 131
ode in Savor oY c\mwfwﬂ o Jace Gud
2 Soce 8 H0Jace => 29510

odds  asainst dvawing an Ace
8 Pees o As =p 1291




June 27, 2022

0AAS

P(E)-

Oéés Yov WOWYIgvo 1o W ﬂ\e

' S‘\o\\iowf o eyt £
N2 b

(MO P(E):

C\'\oxmp\'ows\\i P et Near owe
oA Win ): 2
Ay 9 G

PC W(“):

v

mb

14

4
14 b

Wow T Sind odds when P(E) (5 Sven:
P(E) 5 P(E)

Given P E)i A
) P(E): L —-24=.16

2) 6AS in Sovor oF evett &

P(E) o o P(E)
24 % 06 => 6%

on (e} 6 [eath) [ MEnker]

3) odds aganst Cvent STy

Q@ 12 (First Two Pa@es)
Closs @z Wednesday OF 6130 PN




